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2019(0Odd) o01d Syliabus

Time : 3Hrs. Sem - V/ME
Auto. Engg- 111

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR(3721dT) (ii)

Compare the use of steel and aluminium as car

body material.

PR dISI & ysrdl & U A W ud
I @& STAT B oA N |
(ii1)
Explain with the help of neat sketch, the construction
of a propeller shaft. Also mention the functions of
propeller shaft.

(iif)
a8 W7 &) ggrdar 9 Yiex Iue

® G¥EAT ®Y fad=a=r s | 91T 8 giueR
MY & bl bl ford |

OR (312141)
(iv)
Write notes on the following :
(1) Bharat Stage - 11
(i1) Bharat Stage - 111

3 33504

ftifed o | SI9 A1 9T $919 U9
firR sfew & 4= o/ war 87
(31) UUeR MYe

(@) fsRf~raa firr

(d) gsaeX Bd

(]) oera

Shock absorber in an automobile is used to :
(a) Absorb the energy

(b) Dissipate the energy

(c) Release the energy

(d) Increase the energy

Hex ALY H AT IMYH BT SUIIT

The gas used in modern shock absorbers is:
(a) Nitrogen

(b) Oxygen

(c) Hydrogen

(d) Carbon di-oxide

P.T.O
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SRIUT &) ggrudl 9 fevaifie yar &
3T Qaoild} &I GXadT Ud srRAfafer &t
fad=em &Y |

OR(3721d)

Describe the terms : Camber and caster. What are
the effects of caster on the steering characteristics
of a vehicle ?

DR Ud B UGl T qui-] dY | #iex ATe)
& WHRIRT H¥FNTE Y IR $REX BT T
Y99 gsdl & ?

Discuss in detail the tyre classification from various
consideration.

8
fafr=1 faaRl 9 <R @ Tffevor &1 afear

qofq B |

OR(3721dT)

Describe in detail construction and working of disc
brakes.

OT5056

(vi)

(vii)

(vii)

(viii)

(]) SWiFd 4 4 Big Tl

The type of wheel which cannot be used
with a tubeless tyre is :

(a) Disc wheel

(b) Wire wheel

(c) Light alloy wheel

(d) Composite wheel

FId BT YBR Sl cYaRied SRR A1
FagR A8l fHAaT o1 GHdT 8, I8 ..........
g1 2 |

(@1 Sred e

(@) arR i

(&) g1 fAsor et

() dHlfsre &

A smoke blue exhaust is due to :

(a) Excessive air

(b) Excessive rich mixture

(c) Burning of oil in combustion chamber
(d) Incorrect valve adjustment

P.T.O
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OR (3r2raT) x)  BR 98I R HIH AT ST ®, F@aife
(@) uE e yfoRigs gar 2 |

(@) gz s &l 95 S <l o |

(W) d8d IS T 2 |

(2) SwIqad g+

Write notes on Bharat Stage - |

IR &l — 1 R fewofi forg |

5. Describe in brief about the analysis of exhaust gases. (xi)  The type of the hub used on a heavy
4 commercial vehicle is a :

Prpifia e @ figeyo & ar § Wl (a) Quarter- floating
. (b) Semi-floating
quis &Y | (¢) Three quarter-floating
(d) Fully floating
OR (312141)
(xi) W) A9EIIS a8 A Adgd T4 DI

L1 L S BIdTl B
Write notes on "three-quarter floating"axle. (a1) aterrg—dar

“dF—dtenrg dvd” vaae ux feweft fod | (@) &= @tens—d=ar

6. What are resistances opposing the movement of

vehicles ? Describe in brief. (xii)  The purpose of a brake is to :

4 (a) Store energy
(b) Change friction to heat
AR T & A B favg dl-@iT 4@ (c) Convert heat energy to kinetic energy
gfasig s oxdar 2?2 dférg q9vfs & | (d) Convert kinetic energy to heat energy
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(xv)

(xv)

GROUPB

Answer all Five Questions.

o) ufg g @ SR T |

4x5=20
2. Name various components mounted on the chasis (xvi)

frame. Describe any one in brief.
4

Afew »y R fd @yl &1 9 fod g
fodt v &1 Wferg qufa & |

9 33504

xiv) fFr=ifea 4 |4 &9 %9 dIc Fgaa @

vod & Raare Aftread yfoxier ya™
AT &

(31) A

C)KIEL]

(%) (31) wd (3) <rr

(]) SWRIad ¥ A @Iy 2)

Front wheel alignment is adjustment by
altering the :

(a) Angle of the track arm

(b) Length of the track arm

(c) Distance between the king pins

(d) Position of the drag link

INTA TdFD BT TATTHT, oo i
gRads & g fear simar 2 |
@) & i B BivT

@) ¢ A B TR

@) foT A @ 9= & &

() =7 fd®

Purpose of transmission is to provide ...........
at the time of starting engine.

(a) High torque

(b) Low torque

(c) Average torque

(d) High speed

P.T.O
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